
  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

Bank Management  

INCOME TAX 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What are the powers of chief commissioner of 
Income Tax? 

 Á¸©õÚ Á› •ußø© Bøn¯›ß AvPõμ[PÒ 

¯õøÁ? 

2. Mr. Ravi an Indian Citizen goes to Singapore for 
employment during the previous year 2018-19 on 
1st September 2018. He was an Indian from his 
birth during the year 1987. Identify his residential 
status. 
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 v¸. μÂ GßÓ C¢v¯ Si©Pß ußÝøh¯ £o 

{ªzu©õP 2018–19 Bsk ö\¨h®£º 2018, 1 ÷uv 

][P¨§º ö\ßÓõº. AÁº ußÝøh¯ 1987 ® Bsk 

¤Ó¢u |õÎ¼¸¢x C¢v¯õÂÀ Á]UQÓõº. 

AÁ¸øh¯ Si°¸¨¦ {ø»ø¯ öu›ÂUP. 

3. Explain any six incomes that are totally exempted 
from tax. 

 •Ê Á¸©õÚ Á› Â»UPÎUP¨£mkÒÍ H÷uÝ® 

BÖ Á¸©õÚ[PøÍ ÂÍUSP. 

4. What is dividend? Is it taxable? Explain. 

 £[Põuõ¯® GßÓõÀ GßÚ? CuØS Á›  Eshõ? 

ÂÍUSP. 

5. What are the deductions allowed from Income 
from other sources? 

 Cuμ ÁøP Á¸©õÚzv¼¸¢x AÎUP¨£k® PÈÄPÒ 

¯õøÁ? 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What is capital gain? What are its types? What 
capital gains are exempted U/S 54? 

 ‰»uÚ Buõ¯® GßÓõÀ GßÚ? Auß ÁøPPÒ 

¯õøÁ? G¢öu¢u ‰»uÚ Buõ¯[PÐUS ¤›Ä–54ß 

£i Á›Â»US AÎUP¨£kQÓx. 
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7. You are asked to compute the tax liability of  
Mrs. X from details given below. Her previous year 
is 2018-19. 

Particulars Rs. 

Income from salary 2,40,000 

Rent received from a House Property let out 1,00,000 

Business Income 50,000 

Unabsorbed depreciation (2012-13) 4,000 

Unabsorbed depreciation loss (2012-13) 6,000 

Speculation loss 2,000 

Short term capital loss 4,000 

Long term capital gain 10,000 

Income from other sources 5,000 

Share of profit from a firm 10,000 

Minor son of Mrs. X, Mr. S (Income  
earned by acting in a film) 

60,000 

Payment of Insurance premium in LIC of 
India on her husband's life (policy value  
Rs. 2,00,000) 

5,000 

Purchase of NSC VIII issue 98,000 

Repayment of principal towards  

Housing loan in LIC housing finance LTD 20,000 
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 RÌPsh ÂÁμ[PÎ¼¸¢x v¸©v. X Gß£Á›ß 

Á›¨ ö£õÖ¨ø£U Psk¤iUP. AÁ›ß •¢øu¯ 

Bsk 2018–19 GÚU öPõÒP. 

 ¹. 

\®£Í Á¸©õÚ® 2,40,000 

Ãmk ÁõhøPUS Âmk Á¢u ÁõhøP 1,00,000 

ÁoP Á¸©õÚ® 50,000 

DºUP£hõu ÷u´©õÚ® (2012-13) 4,000 

DºUP¨£hõu ÁoP |mh® (2012-13) 6,000 

FP ÁoP |mh® 2,000 

SÖQ¯ Põ» ‰»uÚ |mh® 4,000 

}sh Põ» ‰»uÚ Buõ¯® 10,000 

Cuμ Á¸©õÚ® 5,000 

Tmhõsø©°¼¸¢x Qøhzu C»õ£¨ £[S 10,000 

v¸©v. X–ß CÍÁº, v¸.  S (vøμ£hzvÀ 

|izx \®£õvzu Á¸©õÚ®) 
60,000 

uÚx PnÁº ÁõÌUøPUPõP LIC – C¢v¯õÂÀ 

ö\¾zv¯ Põ¨¥mk •øÚ©® (£õ¼] ©v¨¦ ¹. 

2,00,000) 

5,000 

NSC GmhõÁx öÁÎ±k Áõ[Q¯x 98,000 

LIC ÃkPmk® {v {ÖÁÚzvÀ Ãk  

Pmh Phß v¸¨¤ ö\¾zx® A\À öuõøP 20,000 
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8. Write notes on : 

 (a) PAN 

 (b) Rectification of mistakes 

 PAN ©ØÖ® uÁÖPøÍ v¸zxuÀ £ØÔ Â›ÁõP 

ÂÍUSP. 

9. Calculate taxable profit of the assessee for the 
assessment year 2006–07 from the particulars 
given below : 

 Profit for the P.Y. 2005–06 (Before charging the 
following amounts) Rs. 2,60,000. 

 (a) Amount given to National laboratory (so 
notified Rs. 20,000) 

 (b) Cost of land acquired for constructing 
research laboratory Rs. 1,00,000 

 (c) Cost of building and plant and machinery 
required for research Rs. 3,50,000 

 (d) Amount given as salary to staff engaged in 
research. (relating to a field not related to 
assessee's own business during 2004–05) 
(business started on 1.4.05) Rs. 30,000. 

 (e) Salary given as salary to staff engaged in 
research within the premises during 2005-06 
Rs. 60,000 
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 RÌPsh ÂÁμ[PøÍ öPõsk ©v¨¥mk Bsk 

2006–07 US Á› ö\¾zx£Á›ß Á›USm£mh 

C»õ£zøu PnUQkP. 

 2005–06® •¢øu¯ Bsiß C»õ£® (RÌPsh 

£nzøu PÈ¨£uØS •ß) ¹. 2,60,000 

 (A) ÷u]¯ B´Ä TmhzvØS (•øÓ¯õP 

AÔÂUP¨£mhx) £n® öPõkzux ¹. 20,000 

 (B) Bμõ´a] Th® PmkÁuØPõP Áõ[Q¯ {»®  

¹. 1,00,000 

 (C) Bμõ´a] ö\´ÁuØPõP Pmih® ©ØÖ® ö£õÔ 

©ØÖ® C¯¢vμ® Áõ[Q¯x ¹. 3,50,000. 

 (D) Bμõ´a] £o°À Dk£k® £o¯õmPÐUS 

öPõkzu \®£Í® (Cx öÁÎ°hzvÀ Bμõ´a] 

ö\´Áx \®£¢u©õPÄ®, •¢øu¯ Bsk 

(2004–05) Bsiß Á› ö\¾zx£Á›ß ö\õ¢u 

öuõÈ¾US \®£¢uªÀø» ¹. 30,000) (öuõÈÀ 

öuõh[Q¯x 1.4.2005) 

 (E) Bμõ´a] ö\´ÁuØS ÁÍõPzvØSÒ u¸® 

£o¯õmPÎß \®£Í® ¹. 60,000 (2005–06® 

BskUS›¯x) 
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10. From the following calculate income from salary of 
Mr. Raghavan who is working in LMN Ltd., 
Chennai. 

Basic Salary Rs. 50,000 p.m 
Dearness allowance Rs. 30,000 p.m 
Bonus Rs. 1,00,000 
CCA Rs. 1,500 p.m 
Entertainment allowance Rs. 6,000 p.m 
Education allowance Rs. 8,000 p.m. 
 (for his two children) 
Hostel allowance Rs. 10,000 p.m. 
 (for his two children) 
Academic research allowance Rs. 25,000 
 (cost Rs. 50,000) 
HRA Rs. 20,000 p.m. (Rent paid Rs. 12,000 p.m)
Conveyance allowance for official purposes Rs. 3,000 
p.m 

 v¸. μõPÁß Gß£Áº ö\ßøÚ LMN ¼ªm–À ÷Áø» 

ö\´x Á¸QÓõº. ¤ßÁ¸® SÔ¨¦PÎÀ C¸¢x 

AÁμx \®£Í Á¸©õÚzøuU Psk¤iUP. 

 Ai¨£øh \®£Í® ©õu® ¹. 50,000, BP Âø»¨£i 

©õu® ¹. 30,000, ÷©¿v¯® ¹. 1,00,000.  

|Pº \›UPmk¨£i ©õu® ¹. 1,500, ÷PÎUøP £i 

©õu® ¹. 6,000, PÀÂ¨£i ¹. 8,000 ©õu® (C¸ 

SÇ¢øuPÐUS), Âkv¨£i ¹. 10,000 (C¸ 

SÇ¢øuPÐUS) PÀÂ Bμ´a]¨£i ¹. 25,000 

(ö\»Ä ö\´ux ¹. 50,000) Ãmk ÁõhøP¨£i ©õu® 

¹. 20,000 (ÁõhøP ö\¾zv¯x ©õu® ¹. 12,000) 

£¯n¨£i A¾Á»Pz ÷uøÁUPõP – ©õu® ¹. 

3,000.APÂø»¨£i Ai¨£øh \®£Ízxhß 

÷\º¢ux GÚU öPõÒP. 
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11. Calculate Income from House property from the 
following : 

 Municipal value Rs. 6,000 p.m 
 Fair rental value Rs. 7,000 p.m 
 Standard rent Rs. 6,250 p.m 
 Actual Rent  Rs. 7,500 p.m 

 The house has been let out from 1st January of 
1997. In the year 2002 and 2003 it was self 
occupied. Again from 1st April 2003. It was let out. 
During the P.V. half month rent could not be 
realsied. 

 ¤ßÁ¸ÁÚÁØÔÀ C¸¢x Ãmk ö\õzx 

Á¸©õÚzøuU PnUQkP. 

 |Pμõm] ©v¨¦  ¹. 6,000 (©õu®) 

 {»Ä® ÁõhøP ©v¨¦  ¹. 7,000 (©õu®) 

 ÁõhøP Pmk¨£õmka  

 \mhzvß RÌ ÁõhøP ¹. 6, 250 (©õu®) 

 ÁõhøP ö£ØÓx  ¹. 7,500 (©õu®) 

 C¢u Ãk 1997 áÚÁ› 1 •uÀ ÁõhøPUS 

Âh¨£mhx 2002 ©ØÖ® 2003 BQ¯ BskPÎÀ 

Ax E›ø©¯õÍμõÀ £¯ß£kzu¨£mhx. «sk® 

2003 H¨μÀ – 1 •uÀ ÁõhøPUS Âh¨£mhx. 

•¢øu¯ Bsk Aøμ©õu ÁõhøP ö£Ó¨£h ÂÀø». 

12. Elaborate (a) Defective return (b) Belated return 
(c) Due date of filing return. 

 (A) SøÓ£õkÒÍ£iÁ®, (B) Põ» uõ©u©õÚ £iÁ®, 

(C) Á¸©õÚ Á› £iÁ® \©º¨¤¨£uØPõP Põ»UöPk 

– ÂÍUSP. 

——––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –   
JUNE, 2019. 

Third Year 

COST ACCOUNTING  

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What are the advantages of cost accounting? 

 AhUP Âø» PnUQ¯¼ß Áøμ¯øÓPøÍ ÂÁ›. 

2. Calculate the earnings of a worker under Rowan 
Scheme. 

Time allowed 48 hours 

Time taken 40 hours 

Rate per hour Re. 1 

 ÷μõÁõß vmh Ai¨£øh°À J¸ ÷Áø»¯õÐUPõÚ 

Á¸Áõø¯U PnUQkP. 

AÝ©vUP¨£mh Põ»® 48 ©oPÒ 

GkzxU öPõsh Põ»® 40 ©oPÒ

J¸ ©oz xÎUPõÚ Ãu® ¹. 1 

 UG–220 BBM–32
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3. From the following particulars, calculate EOQ and 
number of orders : 

 Annual usage – 6000 units 

 Cost of material per unit – Rs. 20 

 Cost of placing one order – Rs. 60 

 Annual carrying cost of one unit – Rs. 2 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ]UPÚ öPõÒ•uÀ 

Bøn AÍøÁ ©ØÖ® BønPÒ GsoUøPø¯ 

PnUQhÄ®. 

 Bsk £¯ß£õk – 6000 A»SPÒ 

 J¸ A»Qß AhUP Âø» – ¹. 20 

 J¸ AÝ¨£õøn CkÁuØPõÚ ö\»Ä – ¹. 60 

 J¸ A»S ÷\P›zx øÁ¨£uØPõÚ Á¸h ö\»Ä – ¹. 2 

4. Calculate Break Even Point from the  
following :  

 Sales 1,000 units at Rs. 10 each  – Rs. 10,000 

 Variable cost – Rs. 6 per unit 

 Fixed Cost – Rs. 8,000 



 UG–220 3

 RÌUPshÁØÔ¼¸¢x »õ£ |mh ©ØÓ {ø»ø¯U 

PõsP. 

 ÂØ£øÚ 1,000 A»SPÒ ¹. 10 Ãu® – ¹. 10,000 

 ©õÖ£k® AhUPÂø» – ¹. 6 J¸ A»S 

 {ø»¯õÚ AhUPÂø» – ¹. 8,000. 

5. What is meant by Job Costing? 

 £oUPõÚ AhUP {ø» Gß£vß Aºzu® GßÚ? 

PART B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. What are the characteristics of an ideal costing 
system? 

 J¸ ]Ó¢u AhUPÂø» •øÓ°ß Snõv\¯[PÒ 

¯õøÁ? 

7. The Rock Ltd. furnishes you the following 
information : 

 First half 
Rs. 

Second half
Rs. 

Sales 8,10,000 10,28,000

Profit earned 21,800 64,800
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 From the above, you are required to compute the 
following assuming that the fixed cost remains the 
same in both the periods. 

 (a) P/V ratio 

 (b) Fixed Cost 

 (c) The amount of profit or loss where sales are 
Rs. 6,48,000 

 (d) The amount of sales required to earn a profit 
of  Rs. 1,08,000. 

 μõU ¼ªöhm RÌUPõq® uPÁÀPøÍU 

öPõkzxÒÍx. 

 •uÀ £õv  

¹. 

Cμshõ® £õv 

¹. 

ÂØ£øÚ 8,10,000 10,28,000

Dmi¯ »õ£® 21,800 64,800

 ÷©ØPsh uPÁÀPøÍU öPõsk RÌPõs£ÁØøÓ 

PõsP. Cμsk Põ»[PÎ¾® {ø»¯õÚ ö\»Ä 

v¸®£Ä® Jß÷Ó uõß GÚU öPõÒP. 

 (A) »õ£/AÍÄ 

 (B) {ø»¯õÚ ö\»Ä 

 (C) ÂØ£øÚ ¹. 6,48,000 BP C¸US® ÷£õx 

»õ£® (AÀ»x) |èhzøu PõsP. 

 (D) ¹.1,08,000 »õ£® Dmhz ÷uøÁ¯õÚ 

ÂØ£øÚø¯U PõsP. 
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8. Write short notes on : 

 (a) Job Costing – Merits and demerits 

 (b) Operating Costing. 

 ]Ö SÔ¨¦ ÁøμP : 

 (A) £o AhUP Âø» PnURk |ßø©PÒ ©ØÖ® 

wø©PÒ  

 (B) ö\¯À •øÓ AhUPÂø» PnURk. 

9. A manufacturing concern has three production 
departments and two service departments.  

 In July 2000, the departmental expenses were as 
follows : 

Production departments :  

 Rs. 

A 16,000 

B 13,000 

C 14,000 

Service departments :  

x 4,000 

y 6,000 

 The service department expenses are charged out 
on a percentage basis. 
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 A B C x y 

Expenses of dept x 20% 25% 35% – 20%

Expenses of dept y 25% 25% 40% 10% – 

 Prepare a statement of secondary distribution 

under repeated distribution method.  

 J¸ EØ£zv {ÖÁÚ® ußÛh® ‰ßÖ EØ£zv 

xøÓPøÍ²®, Cμsk ÷\øÁz xøÓPøÍ²® 

öPõskÒÍx. áüø»  2000 US, EshõÚ xøÓ 

Áõ›¯õÚ ö\»ÄPÒ ¤ßÁ¸©õÖ  

EØ£zv xøÓPÒ :  

 ¹. 

A 16,000 

B 13,000 

C 14,000 

÷\øÁz xøÓPÒ :  

x 4,000 

y 6,000 

 ÷\øÁz xøÓ°ß ö\»ÄPÒ ÂQuõa\õμ AÍÂÀ 

Aø©¢xÒÍx. 
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 A B C x y 
xøÓ x–ß ö\»Ä 20% 25% 35% – 20%

xøÓ y–ß ö\»Ä 25% 25% 40% 10% – 

 Cμshõ® {ø» £[Rmk Ai¨£øh°À v¸®£ 

v¸®£ £[Rk ö\´²® •øÓ°À AÔUøP u¯õº 

ö\´P. 

10. From the following particulars, prepare stores 
ledger by adopting Simple Average method : 

Date Receipts Issues 

2000 Jan 1 300 units at Rs. 10 per unit – 

10 200 units at Rs. 12 p.u. – 

12 400 units at Rs. 11 p.u. – 

15 – 250 units

16 – 150 units

18 200 units at Rs. 14 p.u. – 

20 – 300 units

22 300 units at Rs. 15 p.u. – 

25 100 units at Rs. 16 p.u. – 

27 – 200 units

31 – 100 units
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 ¤ßÁ¸® Â£μ[PøÍU öPõsk GÎ¯ \μõ\› 

•øÓ°À \μUS ÷£÷μmøh u¯õ›UP. 

÷uv ö£ÖuÀPÒ ö\¾zuÀPÒ 

2000 áÚÁ› 1 300 A»SPÒ 1 A»S 

¹. 10 Ãu® 

– 

10 200 A»SPÒ 1 A»S 

¹. 12 Ãu® 

– 

12 400 A»SPÒ  1 A»S 

¹. 11 Ãu® 

– 

15 – 250 A»SPÒ 

16 – 150 A»SPÒ 

18 200 A»SPÒ 1 A»S 

¹. 14 Ãu® 

– 

20  300 A»SPÒ 

22 300 A»SPÒ 1 A»S 

¹. 15 Ãu® 

– 

25 100 A»SPÒ  1 A»S 

¹. 16 Ãu® 

– 

27 – 200 A»SPÒ 

31 – 100 A»SPÒ 
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11. Prepare a Reconciliation statement from the 
following details : 

 Rs. 

Net loss as per cost accounts  3,44,800 

Net loss as per financial accounts  4,32,890 

Works overhead under recovered in costing  6,240 

Depreciation over recovered in costing 2,600 

Interest on investments 17,500 

Administrative overhead over recovered in 
costing 

2,600 

Goodwill written off 92,000 

Stores adjustment in financial books (Cr.) 950 

Depreciation of stock charged in financial books 13,500 

 ¤ßÁ¸® Â£μ[PøÍU öPõsk \› PmkuÀ 

AÔUøPø¯ u¯õº ö\´P. 

 ¹. 

AhUPÂø»ø¯ PnUQß£i {Pμ |mh® 3,44,800 

{v{ø»U PnUQß£i {Pμ |mh® 4,32,890 

AhUPÂø»U PnUQÀ SøÓzx ©v¨¤h¨£mh 

÷©Ø ö\»Ä 6,240 

AhUPÂø»U PnUQÀ ªøP¯õP ©v¨¤mh 

÷u´©õÚ® 2,600 



 UG–220 10

 ¹. 

•u½miß Ámi 17,500 

AhUPÂø» PnUQÀ ªøP¯õÚ ©v¨¤h¨£mh 

{ºÁõP ÷©Ø ö\»Ä 2,600 

|Øö£¯º uÒÐ£i ö\´ux 92,000 

{v {ø»UU PnUQÀ \› ö\´u \μUS (ÁμÂ¸¨¦) 950 

{v {ø»U PnUQÀ \μUQß «x ©v¨¤mh 

÷u´©õÚ® 13,500 

12. The following particulars of sales and profit for 

two periods are available in respect of a concern. 

 Period I Period II

Sales (Rs.) 4,00,000 5,00,000

Profit (Rs.) 1,00,000 1,40,000

 Calculate : 

 (a) BEP 

 (b) Sales for a profit of Rs. 2,00,000 

 (c) Profit when sales are Rs. 6,00,000 and  

 (d) Margin of safety when profit is Rs. 50,000. 
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 J¸ {Ö©zvß ÂØ£øÚ ©ØÖ® »õ£® C¸ Põ» 

Pmh[PÎÀ ¤ßÁ¸©õÖ EÒÍÚ. 

 Põ»® I Põ»®II 

ÂØ£øÚ (¹.) 4,00,000 5,00,000

»õ£® (¹.) 1,00,000 1,40,000

 PnUQkP : 

 (A) \©{ø»¨ ¦ÒÎ 

 (B) ¹. 2,00,000 »õ£® ö£Ó ÷uøÁ¯õÚ ÂØ£øÚ 

 (C) ÂØ£øÚ ¹. 6,00,000 GÛÀ »õ£® ©ØÖ® 

 (D) C»õ£® ¹. 50,000 GÛÀ £õxPõ¨¦ GÀø». 

_______________ 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

Bank Management 

MARKETING OF BANKING SERVICES 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. Define Marketing. 

 \¢øu°køP Áøμ¯Ö. 

2. Explain the need for understanding competition. 

 ÷£õmi SÔzx ¦›¢x öPõÒÐu¼ß AÁ]¯zøu 

ÂÍUSP. 

3. What is consumer behaviour? 

 ~Pº÷Áõº ÷£õUS GßÓõÀ GßÚ? 

4. What are banking products for marketing? 

 Á[Q°ß \¢øu°køPUPõÚ ö£õ¸mPÒ ¯õøÁ? 

 UG–221 BBM–33
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5. State the differences between Marketing Research 
and Marketing Information system. 

 \¢øu°køP Bμõ´a]US® \¢øu°køP uPÁÀ 

•øÓUS® EÒÍ ÷ÁÖ£õkPøÍU TÖP. 

SECTION B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. What are the characteristics of bank services 
marketing? 

 Á[Qa ÷\øÁ \¢øu°ß C¯À¦PÒ ¯õøÁ? 

7. Explain the impact of banking regulations on 
marketing strategies of banks. 

 Á[QPÎß \¢øu°køP EzvPÎß ÷©»õÚ Á[Q 

JÊ[S•øÓ°ß uõUPzøu¨ £ØÔ ÂÍUSP. 

8. Describe the stages in consumers’ buying decision 
process. 

 ~Pº÷Áõ›ß Áõ[SuÀ •iÂß £i{ø»PøÍ 

ÂÁ›UP. 

9. Discuss the need for marketing of banking 
services. 

 Á[Qa ÷\øÁPøÍa \¢øu°køP°ß AÁ]¯zøu¨ 

£ØÔ ÂÍUSP. 
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10. Explain the basis of bank market segmentation. 

 Á[Qa \¢øu¨ £S¨¤ß Ai¨£øhPøÍ ÂÍUSP. 

11. What are the merits and demerits of primary 
data? 

 •uÀ uμ uPÁ¼ß |ßø© wø©PÒ ¯õøÁ? 

12. Enumerate the steps in conducting situation 
analysis.  

 `Ì{ø»¨ £S¨£õ´Âß £i{ø»PøÍ ÂÍUSP. 

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE 2019. 

Third Year 

Bank Management 

CUSTOMER RELATIONSHIP MANAGEMENT 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

 Answer any THREE questions. 

1. Define oral communication and written 
communication. 

 Áõ´ö©õÈz uPÁÀ öuõhº¦ ©ØÖ® GÊzx¨ 

§ºÁ©õÚ uPÁÀ öuõhº¦ £ØÔ Áøμ¯Ö. 

2. What is customer relationship management? 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø© GßÓõÀ GßÚ? 

3. Who is a banker? 

 Á[Q¯º Gß£Áº ¯õº? 

 UG – 222 BBM–34
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4. Write a note on customer day. 

 ÁõiUøP¯õÍº vÚ® £ØÔU SÔ¨¦ GÊxP. 

5. What is customer satisfaction? 

 ÁõiUøP¯õÍº v¸¨v GßÓõÀ GßÚ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the importance of communication. 

 uPÁÀ öuõhº¤ß •UQ¯zxÁzøu ÂÍUSP. 

7. Explain the role of CRM. 

 CRM – ß £[øP ÂÍUSP. 

8. Suggest measures to be implemented for retaining 
and enlarging customer base. 

 ÁõiUøP¯õÍº AizuÍzøuz uUPøÁ¨£uØS® 

Â›Ä £kzxÁuØS® ÷uøÁ¯õÚ ÁÈ•øÓPøÍz 

u¸P. 

9. What are the customer services provided by 
banks?  Explain the importance of customer 
services.  

 Á[QPÒ ÁÇ[S® ÁõiUøP¯õÍº ÷\øÁPÒ ¯õøÁ? 

ÁõiUøP¯õÍº ÷\øÂ¯ß •UQ¯zxÁzøu ÂÍUSP. 
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10. Discuss the role of banking ombudsman, in  
redressing the grievances of customers. 

 ÁõiUøP¯õÍºPÎß SøÓPøÍz wº¨£vÀ Á[Qz 

wº¨£õ¯zvß £[S £ØÔ ÂÁõvUP. 

11. Explain the barriers to communication. 

 uPÁÀ öuõhº¤À HØ£k® uøhPÒ £ØÔ ÂÍUSP. 

12. Discuss the steps to be taken for improving 
customer satisfaction. 

 ÁõiUøP¯õÍº v¸¨v  ÷©®£hz ÷uøÁ¯õÚ 

|hÁiUøPPÒ £ØÔ ÂÁõvUP. 

 

  

——————— 



  

 

 

B.Com. DEGREE EXAMINATION –  
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Bank Management 

TREASURY MANAGEMENT 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  What is Risk Management? 

 Chº ÷©»õsø© GßÓõÀ GßÚ? 

2.  Explain ALM. 

 ALM & £ØÔ ÂÍUSP. 

3. What is capital reserve? 

 ‰»uÚU Põ¨¦ GßÓõÀ GßÚ? 
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4. Expand: SLR and CRR. 

 Â›ÁõUP® u¸P: SLR ©ØÖ® CRR. 

5. Write a note on Commercial paper. 

 ÁoPzuõÒ £ØÔU SÔ¨¦ GÊxP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6.  What are the objectives of Treasury Management? 

 P¸Å» ÷©»õsø©°ß ÷|õUP[PÒ ¯õøÁ? 

7.  Explain the various money market instruments.  

 £na\¢øu°ß £À÷ÁÖ BÁn[PÒ £ØÔ ÂÍUSP. 

8.  Discuss the sources of funds for domestic money 
market. 

 EÒ|õmk¨ £na \¢øu°ß {v Buõμ[PøÍ¨ £ØÔ 

ÂÁõvUP. 

9.  What are the financial institutions working in 
domestic money market? 

 EÒ|õmk¨ £na \¢øu°À ö\¯À£k® {v 

{ÖÁÚ[PÒ ¯õøÁ? 
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10.  Enumerate the functions of domestic money 
market. 

 EÒ|õmk¨ £na \¢øu°ß £oPøÍ ÂÍUSP. 

11. Describe the role of RBI in regulating the foreign 
currency market. 

 AßÛ¯¨ £na \¢øuø¯ JÊ[S£kzxÁvÀ   

RBI &ß £[øP ÂÁ›UP. 

12. What are the precautions to be taken by the banks 
in employment of surplus funds? 

 E£› {vø¯ •u½k ö\´²® ÷£õx Á[QPÒ GkUP 

÷Ási¯ •ßöÚa\›UøP |hÁiUøPPÒ ¯õøÁ? 

––––––––––––––– 




